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> α α α α 33 µµα αKontrafagott

7q = 90
∑q = 60 00 3

> α α µµ∀∀∀ 31 33K. Fag.

25 ∑rit. ∑a tempo ∑ ∑accel. 02q  = 80
∑

> ∀∀∀ 33 µµ∀ µ α α α α αK. Fag.

43 13 23 02 ∑
accel. 2

> α α α α α 31 33K. Fag.

118 3q = 100
∑ 4q = 90

Œ ‰ œ œ œ Œ
3Ε

> α α α α αK. Fag.

129 Ó Œ œ ˙ ˙ ˙3

∑ −œ Ιœ œ œ œ œ œ œ œ œµ œα œ œ3

> α α α α αK. Fag.

134 œ œ œ −œ œ œ œ œ œ œ3 3 −œ Ιœ Ιœ ‰ œ œ œ œ œ œ œµ −œ

> α α α α α µα α α α 31K. Fag.

137 œ œ œ œ œ œ œrit. œ Œ ˙ œ œ œ −œ œ œ Œ
ο

3q = 90

> α α α α 31 33K. Fag.

144 ∑ 3 œ œ œ œ œ
3Ε

−œ ‰
−œ Ιœ œ œµ œ œ œ œ œ œ œ

> α α α αK. Fag.

152 ˙ ˙ 1 œ œ œ œ œ œ œ Œ ∑ œ œ œ œ œ Œ
3
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> α α α αK. Fag.

162 ‰ Ιœ œ œ œ œ œ œ
Ο

œ œ œ œ œ œ œ
3

5 Ó Œ −œ œ

> α α α αK. Fag.

171 œ œ œ Ó − −œ Θœ
œµ ‰ Ιœ œµ œα œµ œ œ œ œ ‰ ∑rit. ∑

> α α α α α α α α α µα α α αK. Fag.

176 ∑ 5q = 90
∑rit. ∑ 5q = 90

> α α α αK. Fag.

191 1 ∑rit. ∑q = 60 ∑ ∑accel. ∑

> α α α α 31 33K. Fag.

198 1q  = 80
∑

rit.

∑ 2q = 60
∑

> α α α α 33 µµµµ∀∀∀∀∀K. Fag.

206 04 ∑
rit.

∑ 31q = 120

> ∀∀∀∀∀ µµµµµα α α α αK. Fag.

265 0/q  = 80
∑

rit. 1 4q  = 80

> α α α α α 31 µµµµµ∀∀∀ 33 µµµα α α α α 35K. Fag.

283 ∑
rit. 1 ∑ 00q = 70

> α α α α α 35K. Fag.

298 8q = 90
∑

rit. 6q = 90
∑

rit.

∑
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> α α α α α µµµα α µµ∀
K. Fag.

317 1q = 90 2 ∑
rit.

∑ ∑
q = 90

> ∀ µ 33K. Fag.

325 16 3/ ∑
rit.

∑ 4q = 90
∑

rit.

> 35K. Fag.

400 4 05q = 70
∑

rit. 3 ∑
accel.

∑ 2q = 120

> 35 33K. Fag.

431 ∑ 5 ∑rit. 07q = 100
∑ rit. 1

> 31 35 α α 33K. Fag.

460 ∑q = 80 ∑ 2 ∑
rit. 3 ∑

accel.

> α α 33K. Fag.

471 ∑q  = 80 ∑accel. 1 5q = 100
∑

q  = 80
∑

> α α 35 33 34K. Fag.

483 5q = 100 8 1 ∑
rit. 5

> α α 34 33 α α αK. Fag.

507 ∑
q = 60 3q  = 80 5 ∑

rit. 3 ∑
q = 60

∑
accel.

> α α α 35 33K. Fag.

525 ∑ 00q = 70 7 ∑
accel. 2q = 90

∑
q = 70

> α α α 35 33K. Fag.

550 ∑
q = 90

∑
rit. 2q = 60 3 ∑

rit.

∑ 1
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